SECTION 2 | Test 7
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What is one-third of E

How much
flour is
one-quarter
of this?
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You have 27p.
How many
3p lollipops

m can you buy?

@x8=

Spiders have 8 legs.
How many legs do
6 spiders have?
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40,36, 28, 24,20
1 of 25gis
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What is one-quarter of 20?
What is three times eight?
What are seven fours?

£12 shared between 4 is
Multiply 3 by 3.

Divide 30kg by 3.

A spoon holds 4 millilitres.
How many full spoonfuls can
you get from 28 millilitres?

How many 8p toffees
can be bought with 24p?

How many legs are there
on 8 horses?

How many days are
there in 3 weeks?





